Problem questions
1. What is the essential obstacle in the use of computers of von Neumann concept (our PC) for the synthesis of problem solution. ¨
2. Prove, please, the consistency of the following sentences (by Robinson resolution method). 
S1: There exists a relation between a certain ordering of mass and the existence of  mind. 
(When we encounter in Universe a certain ordering of mass we have to expect the emergence of mind.)
S2: The mind is a consequence of certain mental phenomena. 
S3: The result of a certain ordering of mass are mental phenomena. 
3. Design, please, a finite automaton for the regular grammar (below) and demonstrate its functionality for the analysis of some word generated by this grammar. 
G = ( N, T, S, P(,

where  N =                
a, b, c, d, e , T = A, B, C, D
and  P is the set of rules: 

p1: S ( cA(bD (bC,

p2: A ( aA(cD (bB(c, 

p3: B ( cC(bB(aD(e. 

